413 | For entine sysherm 45,z 0, X ho.
( 300 + 400 + /00) V"

- (300.:0.6 - 4oox0,3 +/00x/2 cos 30')=o

foo U~ /637 Uz 0.205 m/s
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4//8 I With neglect of hydrowulic Sforces /lfincar
Mmomentum (5 Conserved & velocity
l/'zzv;: / krot. Centr of mass ooes rol

Change positvon with respsct fo reference
) y )
axes rmoven with comsten? specd of /hne
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Thas (Zmex;) = (Emn), G of skiry
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= o |/20(1¢+x) F/80(44x) +160(/0 +x) +Joo{$+x)]
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4240 = Hcoo + ‘Pé0Ox , K= Zeo " o 3iere
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77miing P 4 Jepwence of changed Lositions loes nol

ﬂ.fftc:‘ Final resc/t becawse o/l forces arc
1 terned,
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For system 4G =0: (ﬂ'g,l{+2mz[)a'moz{=o
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v=4ar. O:.z_/’noyz.;.z[-é—m (tf"-‘-bzéz)]’é"mouo’z
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Substitute U & get " YU
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5/5 I For 8=907 a=-a,i -cz,,j S0 a,=ret = 1.8 m/s%
od=_/.'£=6rad/s"
o3 —

§a,=rw=48mn/ w=’/4,9/0, 3 =4 rad/s




5/44. | For < 0.25in6

m ’ fnn/! (2‘6059) =58

C * * I3 *
Q 8 ﬁ:ec',‘g (2-co38) + fonss (@ 5/n6)= Bcosd
ﬂ'= co.soz- .‘s:maafanﬂ é caszp
0.4m 03

= 2cos6 -1 éwazﬁ
(2-¢os0)? y

o fe_d - .o -1 Yz - o

0 For w-= 6-33)5- 4b)ﬂ=/an mi- 28,7

p = 2/2 -/ (-3) cos*28.7°= - 0,572 rad/s

(2-/vz)?

2 0.572 rad/s Ccw
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S P =S (77.0-/9) = Jin (G+f8).
Jo V2 Sinf = Sin(6+8) ----- (=)

o \P
%‘%ﬁ VZ/ cosp = (6+4)cos(S+8)

cos (O+f3)

o . = . w 2= > 0 ___(b .
/ b=0.2m 02 2 /3 QS(O*A)—V}CO‘# )
From (a) $inf(V2-@s06):= .s:haa)sp) fon /8 = - J’:a;e
V2 -co

o= o - -/ 0.3420 -
ror 8205 4= fan 7 coqars  Fon '0.7208 = 35,8°

g for G:-2rodfs, Fg.(6) gives

w.s -2 598 (20°+35.8°) . _, 0.5623
2 €05 (20°+ 35.8°) - V2 cos 35.8° -0 5849

&, = /,923 rad/s




